n37:=  Clear [B]

nie- B={{1, -1, 2, -1, -8}, {2, -2, 3, -3, -20}, {1, 1, 1, 0, -2}, {1, -1, 4, -3, 4}};
B/l MatrixForm

Out[38]//MatrixForm=

1 -12 -1 -8
2 -2 3 -3 -20
111 0 -2
1 -14 -3 4

nizol=  B[[2]] = =2 » B[[1]] + B[[2]]; B // MatrixForm
Out[39]//MatrixForm=

1 -1 2 -1 -8

O 0 -1 -1 -4
11 1 0 -2
1 -1 4 -3 4

niaol=  B[[3]] = =1 = B[[1]] + B[[3]]; B // MatrixForm
Out[40]//MatrixForm=

1 -1 2 -1 -8

0 0 -1 -1 -4
© 2 -1 1 6
1 -1 4 -3 4

na=  B[[4]] = - 1  B[[1]] + B[[4]]; B // MatrixForm

Out[41]//MatrixForm=

1 -1 2 -1 -8

6 06 -1 -1 -4
6 2 -1 1 6
6 6 2 -2 12

nazi=  B[[3]] = 1/2 % B[[3]]; B // MatrixForm

Out[42]//MatrixForm=
1 -1 2 -1 -8
O 0 -1 -1 -4
e 1 - 2 3
2
0 0 2 -2 12

mazi=  B[[1]] = B[[3]] + B[[1]]; B // MatrixForm

Out[43]//MatrixForm=

10 2 -2 5
2 2
0 0 -1 -1 -4
01 - %+ 3
2 2
00 2 -2 12



naar= B[[2]] = =1 % B[[2]]; B // MatrixForm

Out[44]//MatrixForm=

10 2 -2 -5
2 2
00 1 1 4
01 - %+ 3
2
00 2 -2 12

nasi=  B[[1]] = =3 /2 = B[[2]] + B[[1]]; B // MatrixForm

Out[45]//MatrixForm

10 0 -2 -11

©0 1 1 4

01 -2 & 3
2

00 2 -2 12

naei=  B[[31] = 1/2 % B[[2]] + B[[3]]; B // MatrixForm

Out[46]//MatrixForm=

100 -2 -11
06 01 1 4
0610 1 5
06 0 2 -2 12

na=  B[[4]] = -2 * B[[2]] + B[[4]]; B // MatrixForm

Out[47]//MatrixForm=

1 060 -2 -11
0 01 1 4
0610 1 5
0 0 0 -4 4

naei—  B[[4]] = -1/4 % B[[4]]; B // MatrixForm

Out[48]//MatrixForm=

1 060 -2 -11
06 01 1 4
010 1 5
06 06 1 -1

naor-  B[[3]] = -1 = B[[4]] + B[[3]]; B // MatrixForm
Out[49]//MatrixForm=

1 060 -2 -11

06 01 1 4
010 0 6
6 6060 1 -1

nisor=  B[[2]] = =1 = B[[4]] + B[[2]]; B // MatrixForm

Out[50]//MatrixForm=

1 060 -2 -11
0 061 0 5
010 0 6
66060 1 -1



In[51]:=

B[[1]] = 2 * B[[4]] + B[[1]]; B // MatrixForm

Out[51]//MatrixForm=

10 0 0 -13
0 0106 5
0100 6
06 0 061 -1

maka diperoleh :

x1l = -13
X2 = 6
x3 =5



